Summative Assessment
Class-6"
Subject- Maths

Time— 3 Hrs M.M -35

faer: (1) @it wea sfAa g 1
Q) TRAFNAF TN HITFATTTH AT
(3) 3 YR H W T ford 1

Direction:
(1)All questions are compulsory.

(2)Solve all the questions in order.
(3)Writing in answer sheet should be neat and clean.

- F
(PART - A)

Q.1 frafaf@a weai & 7e sav R v fawed # & sic # 3a H/A - (10X 5 =5)
write the correct answers from the givgtion:

(i) T UF 9T FT 7T 40 TIC g1 A X 4329 ST T HeT FIAT B13IT -

() 163150%9T (™) 173160 ®9T (37) 183920 ®YT (") 173316 ®4UT|
If the cost of a pen is Rs.40 then what will be the cost of such 4329 pens---

(2)163150 (b)173160 (c) 183920 (d) 173316
(ihFFAfafEa & & Fia @ TEaIv gg -5 § -

153X 37 @) 13 3T 26 @N10 3 25 (') 9 381
In the following which number are co-prime :---

15 and 37 (b) 13 and 26 ()10 and 25 (d)9 and 81
(i) (—1) + (—7) FT AT AT ----

+8 (@) -6 @) —8 (81 +7

The value of (—1) + (=7) is :-

+8 (b) —6 (c) -8 (d) +7

(iv) foret &Y wferadr Yamait & seraforse Regat i wear ghaft -

0 @) 1 (M) 2 (&) 3=

In any two intersecting lines, the number of common point will be :---

@ 0 (b) 1 ()2 (d) Infinite

<h)

(v) 3T GUTST Te=TTo e & @ fohq hIoT o1 AT gram -

(F)FAST (@) S Hor (3T) =T 0T (&) Fs] 0T
Which angle in the following is the measure of ‘half revolution’ :----
Right angle (b) (b) Reflex angle (c) Acute angle (d) Straight angle

(vi) Tfe TRt 3maa fr oS 30 Je 31T TisrS 20 T § A SHFT STHA B9 -
F)600 T HA  (@)100 FF GA @s0ataA (@10 T IEA

(a) 600 cm? (b)100 cm? (c) 50 cm? (d)10 cm?
(vii) HeraeT JThfd 7 g T AT § -

(&) O0A (@) ED @M oC (') AC
In the adjacent figure, the diameter of circle is :---

(a) OA (b) ED (c) OC (d) AC

Rrrafafla st 3 ey 1 ggae AT :--
/\\I

o~

@) @

(ix) 3 TX3TST T ST T B19TT ToTHehT ToiTG 7 TatT , 8 AT 31 9 Tat o
(@) THETE B (@yEwEaeTg e (@) Rrvwarg fage () weor e

What will be the type of triangle with lengths of sides 7cm ,8cm and 9cm :---
(a) Equilateral triangle (b) Isosceles triangle (c) scalene triangle (d) Right angle
triangle

()6 () 8 (N 12 (') 4
The number of faces in any brick will be :---

a)6 (b) 8 (c) 12 (d) 4

Q.2 Rea wumer a1l :-

Fill in the blanks :------

() 98 H&T faa &Y & 31t qureds g v
(a) The number having more than two factors is called
(T) GSH T $SAI31T arelr ERGE] g1

() is the polygon having least number of sides.
(31) Il T Y FIY Shar g1

(©) is the lagest chord of circle.

(]T) 37 T IRATT g1

(d) The formula for perimeter of a square is

@x; =2)

FEATT & 1

HAI---- G
PART B
7X1 =17
Very short answer type questions :------
ofieT 37e I T T5T AT H H dieT 37! T TG4 BICT HE&AT HTRU |

Subtract the smallest three digit number from the largest three digit number.

mmwmmyﬁmﬁ‘@HWWWEﬁﬁv -
(=2) +8 + (-4

By using number line , find the sum of following :--

(—2) +8 + (-4

fonell TrcgeTot shr 3MTepfal Wierent sH# Taenol Wiwreht g3 1

Draw any quadrilateral and mark diagonals in the drawn figure.

90T 4

12 31X 18 &7 oo Ho AT hIfAT 1
Find the L.C.M. of 12 and 18.
HolaeT 3Tl T TRATY FATT T -

(a) Find the perimeter in

5cm

adjacent figure :

S

|

5¢cm

Wwﬁ oTaTTehT IUTAhe AT AT -

2 X1768 X 50
Find the product by suitable rearrangement:
2 X 1768 X 50
HEET 96 & AT UTTES ATd HITAT I
Find the prime factors of number 96.
$TeT - 7T
PART ---C
AT HIfST -
EdFA 1 EAFH 2
(1 35 (a) 30 T IUTTES
) 15
(b) 8 &I IO
3) 16
(c) 50 &I IUTTTS
4) 25
(d) 7 &I IO

2

Match the following :-
Colomn I Colomn II
(5) 35 (a) Factor of 30
6) 15 (b) Multiple of 8
7 16 (c) Factor of 50
(8) 25 (d) Multiple of 7

e 5. F1§ g G ik et &1 3ifFra fifare:--
Th BT (@) TERSEr () Th e
Draw a circle and mark the following :---

A radius (b) A chord (M) A diameter (&) A sector

(F) T Ag@s

99T 6. TST T B ATell S gl Tehell TG, I8,
() 6 T IRH Y A Teh HHRIUT GH AT I
3 QGRS Y AR TR FSThI0T G ST 1

Where will the hour hand of a clock stop if it starts?
From 6 and turnthrough 1 right angle?
From3 and turns through dtraight angle?

9T 7. I FTd AT -
@ (B7) + (=2) + (=65 + (=9
@ (7 + (+8) + (~25)
find the value of :---

a)(37) + (=2) + (=65 +(—9)
b) (17) + (+8)+ (=25)

9T 8. Teh G TS T &TAHl AT I TSIHehT Teh 37T I g 8 HI B 1
Find the area of a square piece of land with one side measuring 8 m.

QT 9. T3 6 31T 8 & JUH T 1T TS AT AT

Find the three first common multiple of number 6 and 8.

2
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)

)

AT -- T

PART ---D

FIR=T10. HEAIHT 20 , 28 31T 36 T Ho Ho AT UGS AR @RI ATHRAT  (3)
Find the H.C.F. of numbers 20 , 28 and 36 by prime factorisation method.

9Tl 1. Ueh fagarddl = 7236 T 56 & TUIaT U 65 & 0T T AT 1 3HHT 3T FLN 3 A

fohdar 31 ar 2 3)

A student multiplied 7236 by 65 instead of multiplying by 56. By how much was hig
answer greater than the cofraaswer?

weaT12. fAFfafle ol I 7o & 319 T gU FIvodl $ ARTER gT FE- (3

Solve the following questions according to the statement given in bracket for each
question:----

()1 T BT AATCT A&ATg | (T / ITerd )

(a)1 is he smallest prime number. (True /False)

(T)J HT g, Fed 38

(b)The centre of a circle always lies in

(@@t & faeroit & iAo fig ox S 0T T G TATST 1 (Ve 21eG 3 3T aT)

(c)Name the type of angle formed at the point of intersection of diagonals of a square.
(Answer in a single word.)

HEaTg 1 (Rerd vt 613 )
( Fill in the blanks. )

o) qUTTeh —6 HEAT IWT TR gl AT 82 (— 6 I HEIT T@T W AT X G@s0)
(d)Integer —6 exists where on a nuber line? (explain your answer by marking—6 on
numer line)

(3) Teh UTHT EIATSTehR 31TehicT ST BIcT & 1 (e i el o faf@T)

(e) A dice is of cuboidal shape. (Correct the statement )

(ITI & FEHG 0T I AT fhel=AT BT & 2 [FeT fdehod Tl - () 90° (@)
180°  (3N360°]

(f) What is the sum of opposite angles of a rectangle? [Choose correct option :—(a)90°
(b)180° (c)360° ]
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